1.
ENGRY TAMRUS

AHuw2s 74%7/1 od u 7?"/»’,;1 12 due m Apnd 28
S& /var’f/vo?/g é{/ Qg@/)/f, (/W

2./ / 79’4(_/ e /70*9&7[/% Ua’i %Aa Centi r c»a/— Mais A
ANetornain e I,4 (/q —p/éwe W%Mt/’”) %&7’ :/Lne "/L{V%7j’f0‘4é’<(

éaaéy |

Srirec s l2T 0l

o/&/fv&/y R /0: 4%/}/\4

preal donsity N =25 éf, ns
§&M /.o*“rL

70/7@@/ //L@ r'/QéSff”ﬂ/{éd élgé/ jote 4 /ﬁ;{/ﬁls :




Gy hen Ahrese 74%/‘ parts ave asccembled rife
j//zg F Ll vesFracted Lo & , e have

—

Nt AnBC”

_ . Stwds for th
er/A, = é 5in30"7 — é: éas%o"j\ ,‘,,,m,',fz‘rmg;;/af
R Pt ik aread

— ,'/— = 2
(604 = 4] =-BL7 _"_"Z&}:ﬁ&

-

RN > - —
7/m5 ) @/4 — %@ )/ém + Mz réis/A 7LME2 @4/4 +md4£@i
m;@‘ + Mg + Mg + s 48c

LN _ AN ‘ —
3lp v diie

— LPCELSY + 7Lk CBT)
3Ly Liha




300 (5.9) 4 Lok (Eap)

——
—

SLP+ 5 Lhd
SIp+hLha ) (-2 45)
3LpLLhld
— T
(/G%j(:""““/_v) (\’_O%Q,M)
. mAc o
A 3
e AC (Am é

g:o ?C:",é'g O)A’ 3
i
| A




Y= 0
‘745 @4/
YL
- 5d lf
IA’*% lMé

;ma/{ 7%»‘3 Ui j
7 LL&/Q Q/i;{/ has Z%e +otel ermw&% }L

JALrt ol d/érhf o ff‘ A

T, = [I@, *”FMH% m;é*[lasf I ) M;J
T [164 +/} Fc:% ]?’W'B?J T IA%C@

( Nexd- page. | j




=[5 qw)+ | + S

4
[PL NGTRY (mJ ool

643
4
L g 5@&

(6d=

/ [, = 2024 Syﬁ = 472K4m"




7 2. 17

S it on

él

The 1 Unstrated é/ucyﬂ/ Lyas areal a/ensfy V<

'Z/-/Z/J [},45 Inage, ﬁz/"Jﬂ'tﬂﬂ‘f’ c‘% /'/,16,,-7[.!2&‘ @éﬁ’&aé 7[46
out-of- plarie 7 avis avd alze abecd ‘he 2 anrs

E%pm% 7[4e ansaver (a torrus 0% /0 dma/
/ntern s z/)é " (Fle L’ﬁd/é' Ma.;é)

P :”//// Sy
{1 V " / -
- QJ

N\

— | <
2
/ Y \L/l‘(
36




—

/_' 71&6 calculation C% I/Z , 7he drstance
%07’71 ;/W) " A = axe is V/"”_ Thus

I/z :j‘ rzclm

b
= ﬂwy (P ro/go/r)

p=2r (I=12
:J fredrde

&:O r:}f,

/

= on Lyes| "
Lo

)’:}’,

[I/g JQO‘T‘W 1)
Lbis = Jhe

/ //z/j/ e of Sl éﬁqﬁ,
2 ()/:).‘f’ Q)

(,I/z = Lm(r ’72)]

~——e

)

||

/)




For calwlation % Ly “he drstamce /Zf”‘”% o/
,(’7(47 ﬂﬂ’%(? rs ///\CJEQ/ . 7%44*5 P

Ly = fﬁ.dy/fusejze/m
:jfw‘/ 6o [(O }”dé)cff)

p=07 |1V
:‘j (2 @f%r]i@
b=0 Yr=r,
[

= PR (2-r) (%)
1= £ mlen)]




9
7.
7 7, /g 4 <0 /,-'d AM][-S/Q}L.%@ = 5}1(%(/}/2 , Wﬂ[ﬁ, mq/fws

T Find e mase vgiment af 1agrta_ abod
5 Q’X(S WI/LL[ dﬂ/of[—;”évg 1‘7L /M ‘/g/lﬂ,is &f' 0/&2(/1/4'.?/\\/0 '

ﬂ/mc{ /n teans Miacs “m ,l,

dm=pdv

=1 ( Rusgdg- R dp-dR)
=R usd IR 46 c/¢

AT N e —— e




W v
745 c/x'{»fM(”@ /[)/cw O/I/"L o B Qxis /s

| Ring| . Thue,

- L,

/V% & (0r? M%JRCJN%)

Yy
YDYI[ (OJQ"‘J@ mcfekg 1o

P=0 J

/J.

O






